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Halloween Addition

Solve the following word problems.

On halloween, Sam collected 35 candies from the
first neighborhood and 40 candies from the second
neighborhood. How many candies did Sam collect
in total?

In a halloween party, 29 kids were dressed as
ghosts and 32 kids were dressed as witches. How
many kids were at the party?

Lucy bought 25 red bulbs for halloween
decoration. She then bought 60 blue bulbs. How
many bulbs does Lucy have now?

Ron bought 70 toy spiders and 20 bats for
halloween decorations. How many toys did he buy
altogether?

Tom and Jerry went trick-or-treating. Tom got 36
candies and Jerry got 52 candies. How many
candies did they get in total?

In a halloween contest, 58 kids participated in the
morning and 39 kids participated in the afternoon.
How many kids participated in total?

A halloween store sold 59 witch hats in the morning
and 41 in the afternoon. How many witch hats did
the store sell in total?

A pumpkin patch has 65 orange pumpkins and 34
yellow pumpkins. How many pumpkins are there in
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